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Two types of a man who damages — Q7R M AN

Overview

The X713 explained that according to 27 (even though our m1wn counts 27X as
one of the Max, nevertheless), XYY ' enumerated two types of P17 OTX;
namely where an 27X was p°11 another '07x and 2w pUIRT DX,

nooIn asks:
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And if you will say; since X°y2% "1 teaches us two types of *p*1a1 27R, then
let him also teach us the three max of =1, which are 3™ 32 179 (RVYIR "
should have enumerated them individually, and there will be an additional
two M2X to bring the total to fifteen).

no0IN answers:
$PIINNT NIN 1D NIV 0513 1535 5 KNIV 97 v

And one may say; that he would rather include them all in the single 2X
of " like the Xin of the .

Summary
XvwIX " did not enumerate all the three Max of MW but preferred to include

them all in MW as does the Xin of the mwn.

Thinking it over

Why is it that by o7& [even though (according to 17) the mwn includes all
types of 7 07X in 7van, nevertheless] Xy "™ deems it proper to
enumerate different types of P17 07X; however concerning MW, it seems
that XX "1 was satisfied to leave it as the 71wn had structured it, and chose
not to enumerate the different categories of P> Mw?!*

! These are enumerated in the X*Y2X 27 XIN as 121 Wy PTl.

* This is 7v2n of our 7awn. See 121 27X Xan 7"7 >"wA.

? Even though that according to 27 when the 73wn states 7v2n it includes all types of p*man 7X. See,
however X1n 7"7 X732 "1, See ‘Thinking it over’.

* See 0", What specifically is T o7% and what specifically is P> 1mw!
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